
:'7' " 

.I Temporary Manual 

LINE of FIRE· UPRIGHT 

,., 

I 

l_._.~., . 





'.i.'AilLi:; UI:' CONTr:N'l'S 

INTHODUCTION OF TilE OWNEH"S ;\1,,;,;[',\[, 

1. IIANDLING PilECAUTION5 ..................................................................................... . 

2. I'nEVENTION OF COUNTERFEITING AN!) CONVERSION ......................................... . 

3. rUEC,\UTIONS CONCERNING TilE PL\CE OF INSTAL!.ATION ................................ . 
4-. NAf'\E OF PARTS 
5. METIIOD OF TRANSPORTING FOR INSTALLATION ••••••••••••• 

6. REMOVING THE SEATS ................................................................ 

7. REMOVI NG 'l'HE REAR CABINET ••••••••••••••••••••••••••• 
6. SEE" "'CE SWI TCH 
Cf. ftEPl-I\CEMENT OF THE B/l. ... BOAp-I> L...AMP 

10. REMOVING THE FRONT GLASS •••••••••••••••••••••••••••• 

11. REMOVI NG THE MI RROR ••••••••••••••••••••••••••••••••• 

12. REPLACING THE ELEC'l'ROHAGNE'l'lC SOLI:;NOIlJ ............................ 

13. RENOVING THE GRIP UNIT t'\ND REPLI\CING THE SWITCH 

14. REMOVING THE PANEL COVERS .................................................. 

15. REMOVING THE GUN UNIT ••••••••••••••••••••••••••••••• 

16. GUN UNIT V.R. (VARIABLE RESISOR) ADJUSTMENT 

I'], DEseRI PTION Of 26 INCH MONITOR 
I 8. SELf - TES T ' 
19. lJlP SWITcH SETTl/Uj 
W. ROf'\ LOCA -r IONS 

21. WHEN "file 9Qtrle mode does 
12. PARrS~>·CATf,\LOq-

.. 

.................. 

SI'ECIFICATIONS ~ ~ 413 
I 'tOO '71 .W. } . ) (\V) 

• INSTA I.I.ATION 51' ACE :-~fI{l nlln (85 in)(l) x 1070 mm (~ In 

• 1IE1(:IIT .' : U£~lIm ltJ in) 
:2D1 

• POWEll : 630 W 

• C. n. T : 21i I Nell 7 
?1(J "0 

• Wt:IGII'I' : ;1150 kg~i lis.) 

NO'l't; : 

Ilcscri,.linns herin contained may be suhject to impro .. emcnt chunl(cs without notice. 

, I 

,I 

, 



H .' 
" 

" 

~ 

r . 

INTHODUCTION OF TilE OWNEH'S l\lANUAL 

SEGA ENTERPRISES. LTD .. supported by its high electronic 
technology of LSIs. microprocessors. etc. and a wealth of 
experience. has for more than 30 years uetjll supplying various 

innovative and popular game mach.ines to the world market. This 
OWNER'S manual is intended to provide detaDed comments 
together with all the necessary information covering the opera­
tion in general of electronic assemblies. electromechanicals 

LINE: OF FIRE 
servicing control. spare parts. etc. as regards the Sll1~j<~It=:M8Nt\e87(tJ> 

a new SEGA product. The manual is intended for those 
who have knowledge of electricity and technical expertise 
especially in lCs. CRTs. microprocessors. etc. Carefully read so 
as to acquire sufficient knowledge before working on the machine. 

Should there be a malfunction. non-technical personnel should 
under no circumstance touch the interior system. 

1. HANDLING rHECAUTIONS 

When installing or inspecting. be very careful of the 
following points and pay attention to ensure that the player 
can enjoy the game safely. 

o Be sure to turn the power off before working on the machine. 
o To insert or pull out the plug quickly is dangerous. 
o It is necessary to make sure that the power cord or the 

grounding -wire is not exposed on the road. etc. in a manner 
so as to be dangerous. Make sure that grounding connections 

are mad~ safely at the position where so specified. 
o Do not use allY fuse t.hat "does IlOt meet the specified rating. 

"." 0 Make complete connections for lhe IC board and other 
connecters. Insufficient insertion is very dangerous. 

Also. for the IC' board circuit inspections. only the logic 
tone is allov/ed.· The use of a tester is nol permitted. so be 
careful in this regard. After confirmi'l::': thal lhere are no 

'. 

irregularities. turn the power. ·ON. 
, 

-,k-



~ . 

.n'. 

2. PHEVENTION OF COUNTIWFEITINC ANI> CUNVEHSIUN 

LABELLINC 

To prevent counterfeits and conversions. the following 

laIJels are put on all the SEGA products. When handling such 

goods. be sure to confirm the labels. They are used to 

prevenl illegal acts such as the unauthorized copying of lhe 

producls' and the prinled circuit boards lhereof or carrying 

on business by manufacturing similar merchalldise or by 

cOllverting. selling or using slIch producls or prinled 

circuil boards. 

OHl(;INAL SEAL 

The following seal is put on 

the machines lIlanufactured by 

SEGA. 

C(WyiUGIIT" NOTICE 

LICENSE SEAL 

The following seal is put on the 

kils. sucli as Uk j)["j:,: .~.,] 

circuit boards. of SEGA 

products. 

This SEOA product has the copyright notice as follows: 

Jc;) SEGA 1989 

This sigllifies lhal this work was disclosed inl!JH!) ami is II)e 

properly of SI!!GA EWrmRpnT8T~S. LTD. " 

-J"-

.3 



a. PI!ECAlI'l'IONS CONCEltNING TilE PLACE OF INSTALLATION 

L./NE OF FI/,E',ID 
is an illuoor game machine. AbsoluLely 

do nol inslall il oulside. Even indoors, avoid inslalling in 

places lIIellliul18(1 below so as lo ellsure proper usage: 

o Places subjecl Lo rain or waLer leakage, or condensatioll due 

to h u III id i Ly. 

o III the proxillliL.y or all indoor swillllllilig pool al1u/or shower. 

o PlaGes sulJjccL lo direcl sUllligllL. 

o Places subject lo heal sources rroll! healing ullils. elc .. or 

hol air. 

o Vicinily of highly illflamlllable/voialile chemicals or 

hazardous malLer. 

o Sloped su rfaces. 

o ViciniLy of allti-disasLer facililies such us fire exils and 

fire extinguishers. 

o Places subjecl Lo allY lype of violenl impacl. 

o Dusly places. 

." 

-4-

I"" 



,n .. 

8' 
;J1i.. SEHVICE SWITCII 

Opening the eoin chute door allows the service switch to ope."ate. 

The function of each switch is as folows: 

CD IlEMAGNETIZEIl SW 

® LEFT ..J/XVI(F.:ihl (.~I? 1 
@fl'.IIT S[/.--.V/CF "':'Iv (1"-) 

lIsed 1'01' I'('moving- the on-SCI'cell colm' 

unevenness . 

. Used fo.· displaying SELF-TBST screen modes. 

Used for lhe purpose of servicing lind 

incrcasing the cred its without r'egistering 

on lhe meter. 

'~.@~ 
.soUND VoLlJlIE 

Used fllr adjusting the spca I<er's sound volumc. 

.. ' 



® 
(J) 

_ ... Used to prevent overcurrent of the LEFT CIRCUIT PROTECTOR J 
RIGHT CIRCUIT PROTECTOR GUN UNIT SOLENOID. When the center 

. -.... > , 
" 

" 

button is in a projected position, 

first turn the power OFF, push llle 

button back to its original position 

and turn the power back ON again. 

*When the SOLENOID does not function, 

check to see if the CIRCUIT PROTECTOR 

is functioning . 

.' 



.or.', 

12. REPLACING TilE ELECTROMAGNETIC SOLENOID 

* Removing the Gun Unit Cover: 

o As shown, take off the M4 TAMPERPROOF 

SCREWS, and remove the FRONT COVER 

(GUN-2032) and SIGHT (GUN-2034). 

M4 TAMPERPROOF SCREWs (4) 

SIGHT 

GUN-2034 

FRON'!' COVE 1\ 

GUN-2037. 

1~ 
I I 

I 

o Take off the SIX M4 TAMPERPROOF SCREWS and remove the GUN 
COVER. 

TAMPERPROOF SCREWs (6) 

GUN COVER (LEFT) 

GUN-203l 

(RIGII' 

., 



(1)-; 

Note: The tl;r:eads of the TA~1PEHPHOOF SCREWs used tor the GUN 

COVERs, etc. have been applied with special NYLON RESIN 

for the purpose of preventing the screws from loosening. 

Altllough repeated usage of the screws are possible, when 

they are subject to excessively frequent fastening/ 

unfastening, the effect of the step takell to prevent the 

loosening of the screws will decrease. 

o By using a hexagonal wrench, take off the 4 hexagon screws 

and remove the electromagnetic solenoid together with the 

bracket. 

Note: When reassembling, use an ordinary loosening prevention 

agent which is available on the market, for said hexagon 

screws. 

o The SOLENOID can be removed by taking out the loosening 

prevention pins from the screws which secure the SOLENOID to the 
BRACKET, and then removing the nuts. 

ELECTROMAGNETIC 

124-5031 

SOLENOID BRACKET 

GUN-'2041 

I'~ ® _ /'vf5 screw (4) 
~----------~--

I-IE)(AGON SCREW (q) 

/ , 



~3. REMOVING TilE GRIP UNIT AND REPLACING THE SWITCH 

o Removing the Grip Unit 

QDTake off the 4 TAMPERPROOF SCREWs and remove the GRIP's 

LOWER COVER (GUN-2029). 

@ Disengage the GRIP UNIT (ASSY GRIP: GUN-2l00) wiring from 

the CORD CLAMPs and disconnect the UNIT's wiring connectors. 

\ 

D M4 TAMPERPROOF SCREWS 

fI.,', 

(DAS per the illustration, take off the M5 U NUTs and M4 

TAMPERPROOF SCREWs "A", unfasten the M4 TAMPERPROOF SCREW "B", 

and pull the GRIP UNIT out in an upward position. 

\ 

LJ 

M4 TAMPERPROOF SCREW "A" 

--,,~ 

M4 TAMPERPROOF SCREW "B" 
, . 

Note: At this time, pay careful attention so that the GRIP 

UNIT's wiring CONNECTORs will not catch in the GRIP BASE 

portion, which is marked with a circle in the 

illustration. 

CLl\1 



o Replacing the I'1icroswitch 

o Microswitch for Trigger 

CD Disengage the wiring from the COHO CLA~lP. 

'2) 'fake of f the two M3 screws and the two M3 hexagon nuts, and 

remove the SWI'l'CH BRACKET (GUN-2106). 

(j')'J'ake off the two 1'12 screws and _tile two j·12 hexagon nuts, then 

remove the switch from the bracket. 

~With the M4 screw in a loosened condition, the fine ... 
adjustments 

and bracket 

Q'M2 HEXAGON NUT 

. ~ M3 HEXAGON NUT X 2 

SWITCH BRACKET -- -- -'.' 

(GUN-2l0G) 

<; .. 

..-

Q) M2 SCREW X 2 
IEl /----

@M3 SCREW ~ 
~--- ... 

CLAMP 

MICROSWITCH 
'----_.---
509-5177 

." 

"" 

moving the switch 

10 



o SWITCH FOR ~llSSILE (GRENADE LAUNCHER) BUTTON 

J) Take off the M4 TAMPERPROOF SCREI'i' and remove the GRIP COVER 

(GUN-2112), FIRE BUTTON (JI-200S), SPACER (GUN-210B) anu 

SPRING (GUN-2113). 

@ Disengage the wiring from the CORD CLAMP. 

o Loosen the to SCREW of SWITCII HOLDER (GUN-2111) and remove 

the SWITCH. 

GRIP COVER 
(-GUN-HilT' 

M4 TAMPERPROOF SCREW 

,,-

FIRE BU'fTON 
-(.11=-2005) 

SPACER 
-;; (GiTtf-'--'-2'--1-O--==-S-)-./ 

(GUN-2113) 

SWITCH HO~ER~/ 
(GUN-2111 ) 

Si-iLTCH BOARD 
839-0016 

, I 



Note: a When reassembing, firmly secure the wiring with the CORD 

CLMIP. 

o When reinstalling the GRIP COVER (GUN-2l12), assemble 

the FIRE BU'fTON (JI-200S), SPACER (GUN-2108), SPRING 

(GUN-2113) and SWITCH BOARD (839-0016) in a manner so 

that they will be positioned as shown. In the case 

where the SPRING deviates from its correct position, you 

may not be able to push the FIRE Bu'rTON smoothly. 

SWITCH BOARD 
839-0016 

FIRE BU'rTON 
(JI-200S) 

SPACER 
'- -'('::G:7U~N:-=-;:;;2~1-:::0-:::8-'-)--

SPRING 

(GUN-2113) 

o When reinstalling the GRIP UNIT to the GRIP BASE, make 

s~re tl~,at ~he wiri~g does not catch in the inner part of 
said GRIP BASE. 

" 

12-



16. GUN UNIT V.R. (VARIABLE RESISTOR) ADJUSTMENT 

o Precautions 

This machine ~llows, during the test mode, the GUN UNIT's 

sight to be electronically adjusted and therefore, V.R. 

adjustments are normally no~ required •. However, when the 

electronically adjustable scope is exceeded, or the V.R. 

GEAR is idly racing, make the following adjustments. 

o V.R. Adjustments in vertical Directions 

Qj Loosen the two M4 screws to move V.R. BRACKET "A", 

(GUN-2035). 

QDWhen the V.R. BRACKET is moved, the V.R. GEAR and the 

ADJUSTMENT GEAR will be disengaged. At this time, turn the 

V.R. GEAR and make sure that the "0" shaped V.R. SHAFT's 

flat suface faces the opposite side of the ADJUSTMENT GEAR, 

as shown. 

. I 

M4 SCREW (2) 

FLAT SURFACE OF 

"0" SHAPED V.R. SHAFT 

.".', 

VOLUME GEAR ----<; 

601-5943 " 

'-

VOLUME BRACKE'f -- A V1 
GUN-2035 

(J) Fasten the f>14 SCREWs. 

'. adjustments. 

ADJUSTMENT GEAR 

601-6005 

At this time, make the backlash 

' . 

•. 



(4) Slowly swing the GUN UNIT's upper portion bilCk and forth 

v.n. is not exceeded. 

\ 

~v .?' 

@ 

~l © .£r 
@ 

(@) ~ 

~Fine adjustments are electronically made. 

V.R. ADJUSTMENTS 

(horizontal) 

V.R. BRACKET A 

GUN-2035 

SHOULDER SCREW 

SOR-2l2Q ------

FLAT SURFACE OF 

I SHAPED V.R. SHAFT 

U NUT (2) 

V.R. BRACKET B 

GUN-2036 

!,',-, 

" V.R. GEAR 

601-5943 

ADJUSTMENT GEAR 

601-6005 

Q)Loosen the M4 U NUTs and move V.R. BRACKET A 

(GUN-2035) 

@When the V.R. BRACKET is moved, the V.R. ~EAR (601-5943) and 

ADJUSTMENT GEAn (601-6005) will be disengaged. At this time, 

turn t.he V.R. GEAR in a manner so that the "0" shaped V.R. 

SHAFT's flat surface faces the opposite side of the 

ADJUSTMENT GEAR as shown in the illustration. 

1&+ 



,1): 

'j) Fasten the M4 U NU'l's. At this time, make backlash 

ad:; c.s t:.laents. 

® Slowly swing the UNI'f I S upper. portion in the horizontal 

directions (left/right) and check to see that the 

electronically adjustable scope is not exceeded. 

~ Fine adjustments are electronically made during the test 

mode. 

" 

'. 

IS 



".,' .. 

17. UESCHII'TIUN OF 26 INCH I\\UNITOH 

26 INCII MONLTOH (N/\Nl\O) 

\!) L.J L.J ~ 
11' 
II' 
U· 
n, --.' u' 

@A~ 

In-o D~ 

ij~~ IllJIJll II' 
U' 
II' 
II" . v .. t: . 

---- q» 
---Q) 

-<8> 

t.1'V. fI(ll .. tl IV'?rtical synchronizing ndju~tment' 

Allow!;. the on-screen image's vl!rtical distortion to be 

ltd ~i\1~t~d .. 

,2tV. SlZR (Vertical si1e adjustme11t) 

~dju~tB tile screen's vertic~t ~i~e. 

IJ'V. roSl (Vertical position adjustmentl 

Adjusts th .. image's vertical pos i tion. 

~~!II. 1I01.() Illorizont .. 1 synchroni7.ing adjustment! 

MlII~es IIdju~tments when correcting horizont"l distortions. 

(SIn. SIZE (llorizontal size adjustm .. ntl 

".,.It!'!!;. adju~t.tnents when the hori:r.olltal siz~ is too wide or 

too narro"' .. 

• 61n. rOS] (horizontal pO!'9:itiol1 nrljuAtmf"l1tJ 

I\ltnw!;. th~ imnge's hori7.ont;.l ro~ition to be adju!:'tl"!'d. 

(1' nl1lf;111' 

Allow!'; tl.~ i,nCl;9111!'S bri9htl1e~~ to bf! ntlju!=Itetl. 
'-..;-

:8'8. GI\IN 
~. 

Allows hln'! color contrftst to b~ ndjuc;t~d. 

\~hG. CI\IN 

Allows g("een color contrast to be adjusted. 

iO R. GI\IN_ 

Allow!> I"!d color contrast to h~ ndju~ted. 

~ FOCUS ADJUSTMENTS 

10 SCREEN 

"* In normal cases, ~o not adjust the FOCUS and SCREEN.' 1(0 



IS SELF - TEST . 
This test mainly checks the operation of game I'CU's, discovers defects if any, 
and also checks monitor colors and audio quality. In addition, the test indicates 
dip SW assignment and has a Bookkeeping function. 

TEST PHOG HAl\1 

(I) Memory Test Checks the EPHOM programs and HAM Area. 

(2) Input Test Tests the operation of COIN, SHOT MISSILE, 
SERVICE switches,etc. 

(3) Output Test To check SOLENOID function 

("')1 CUT Tcst Checks colors displayed. 

(1)5 Sound Test Checks the quality of the synthesized sound 
transmitted from the I'CU. 

(6) EftKi ADJUSlr-1ENj ~ GUN SIGHTING ADJUSTMENT 

1~) IJip Switch Assignment : Indicates dip switch assignments. 
~(t') Uooltkcclling : Indicates data on average score and lilay time. 
q (I) Backup HAM Clear : Clears Bookkeeping memory. 

I. TEST OPEltATlON 

(1) Push the TEST SW button to display the test menu (Fig. 1). 

"II\GNOSTIC 

I Nil I V "'lIl\l. 

MEMOItV ·mST 

I Nl'lfl" ·mST 

OllTPUT 

C.H.T. 

SOliN!) 

TEST 

·mST 

·Im,.. 

GIIN 1\1l.llJSnlENI" 

1>11' SW. I\SSIGN 

BO( IKKEEP I NG 

III\CK III , fll\M CI £I\H 

EXIT 

SEI.ECT IIV ~EHV I t ~E IIlTl"IUN 

._ _ ''l4'>U 'mST Ulf..:.I·..;,IU.::.;;..N ____ --' 

1'"1(] • 1 

(2) 

(3) 

pUS\, 11,e SERVICE Shl hutfo't\ 
and bring the anow to the desired 
position. Press the TEST SW button 
again to display the desired test. 

When each test is finished, press 
the TEST SW button again to display 
the test menu (Fig. I). 
To end the test "rogram, bring the 
arrow to EXIT and push the TEST 
SW button. 

'7 



I~ 

IE 
IE 
Ie 
Ie 

lEST 31V 
'" INIHVIIIUt\L ltlld CONTINUE call he seleded by IHlshill~ 

when the alTOW is I\t the top position. 

INIHVIDUAL I ndieates only the item which the n n·{)'" points to. Push the 
TEST SW button again to display the test menu (Fig. I). 

CONTINUE After displaying the item which the arrow points to, push 
the~W bulton,again to proceed to the following test in 
the order as indicated in the Fig. 1 _test menu. 

2. TESt' ITEI\\S AND DESCIUI'TION 

(I) l\leIllOt'Y Test 

** 
~~ G(X)P 

GOO) 

5?' (,,001' 
GOO) 

IF GOOI> 
1 3 GOOD 

() II\GNOSTI C 

MEMORY TEST 

IlOMS TEST "'* 
IE ~3 8&3B 
IC 63 GOOD 

RI\MS TEST ** 
IE j~ 8&3B 
l~ ~~ 8mB 
IC l~~ ~B IC 

IC 58 ('.ooD 

18 j~ G(X)P 
GOO) 

18 12~ 8mB 
IC I~Y G<x>D 
IC GOOD 

6 
CI\l.'Cks the glllllC I'Cn's )( mllin nOMs, 
18 ItAMs and 5 CUSTOM IC's. 

Goon means the Ie is in "GOOD" 
ollCrllting condition. 

If there exists any malfunctioning of the 
IC's, "BAD" will be indicated. 

Ie 37 
Ie 107 

** CU)STOM IC ·mtST ** GOOI> C 4 GOO) IC 53 GOOD 
GOOD I C 1 08 GOOD 

PUSII TEST mrnUN 1U EX IT 

(2) INPUT TEST 

-- - ---- --- -----------------

LEFT 

RO 
90 

I) IM;NOST I <: 
I NI'IIT ·mST 

~"W 1·lt:1I 

(ZICOIN ClltTm 0) 
SEltV1CE SW 

~ll()T " 

MISSILE ... 

VOI.lIME 

IKJH I ZONTI\L 

VEHTICI\L 

UIGIIT 

(i) Operate each switch. When the "OFF" 
condition is changed to "ON", the 
corrcsponding switch is in good working 
order. 

(3) When the gun is pointed to the left, if ' 

VJ{.R. data increasesland when it is point· 

to the right, if the V.R. data decrease~; 

it is satisfactory. 

When the gun is pointed upward, if the V 

data increases:and when it is pointed 

downward, if the V.R. data decreases; it 

satisfactory. 

·Make the GUN SIGHTING ADJUSTMENTs in the 



(:1) . OUTPUT TEST 

LEFT 

II I N.NOS..- I C 

OUTPUT 'msT 

SI II,ENO I \) 

HIGHT 

!'USII SEIIV I CE til TO ONI, MOllE 

PUSII '11'$'" IIIf1TON 'Ill EXIT 

(,I) C. H, T. TE.C;T 

-==--._-------. ---- :-=-=====~ 

I) II\GNOSTI C 

C, II. T, 'mST 

(::~-----------------------~ 
GREEN 1-- ."-----------, 

jLW' 
---------._-----------' 

wunl> I "-------
C, It. '1: POS I T ION CIIECK 

(5) SOUNU TEST 

"IM.NOS ... I C 

S(JUN\) 'mST 

". 
SOUND NUMIlEIt 0, 

I'USII SEHV ICE IlUrlUN 

PUSII TEST BUITON 'm I;:XlT 

To check the GUN's SOLENOID function. 

When repeating the test, press SERVICE SW II, 

(il Chccks thc C. H. T, position. Make sUI-e thnt 

the on-scrccn corllelS al-c consislcnt, and 

lhen make size adjustments. 

~) Color check. 

Whcn the lest has bccn 

(''OlIlplclcd !,ush ~ 
hutton. 7EST SIv 



,,,.., . 

(G) (.j 01\1 (luJ 11_,Tt I[NT 
, UPPER LEFT 'IARGET :J -- -/'. - --- .... -- ._--._. ---'--------:-·1 

"I N:NOSrIC 

GUN 1\1 !.I liS I MI':NT 

LEFT HIGIIT 

I'III.L 'Iltll;UEII TO STI\HT 

I'IISI1 'I EST mrrrON 'm EX IT 
--=:::-_ .:7."_ 

? LOWER--RIGliT---
li1RCfET 

7 
uri I III' S \\'I Tt:ll M;S IU N M EN'!'S 

III I\( :NOSTI C 

IlII' SWITCII I\SSIGNMENTS 
",. 

I' 

I) II'~W 1\ 11\ 01 01 01111 0(1 01 ~ 
lJII'SW " IIIIU oi 01111 II! 01 II! 

;."o.s b,,~n replaced 

and tHe Gi . .H~ U~~ l'I repaired, be sure 

to make GUN SIGHTING adjustments in 

this mode. 

-ADJUSTMENT PROCEDURE 

Pull the TRIGGER of the left-hand 

side GUN. The target will appear 

on the upper left-hand side. 

Direct the GUN fully to the upper 

left and then pull the TRIGGER. 

Then, the target will appear on 

the lower right-hand side. 

Direct the GUN fully to the lower 

right and pull the TRIGGER. 

Make similar adjustments for the 

right-hand side GUN. 

After the adjustments, press the 

TEST SW_ To repeat the adjustments, 

~ull the TRIGGER. 

) (,) "resent setting of cuch dip switch 

" c(i) Coin' switch seUing 

/ ® OFF: Expressions in Japanese. 

1;1 ON: Expressions in English. 

/ 
@ Cabinet type 

tUi ~ ~~: ~ I all ~ I El!lm IT) / ~ OFF: Starts with 1 CREDIT 

MI/I'<'i,sl'fl(;(I' JI\"I\N"SE/ ~ •. / ON: Starts with 2 CREDITs, 
C I E" ~I r IJ()WN~~ 
I Cllo"l)IT 'I') S'I""'I' ~ ti with 1 CREDIT '(~Mll" I FFlclJI.'1-y'u, NOllMI\,- Con nues 

CON '1 NUl-: M~l' ON @ I\IJV[';IlT I:::.... ii'll> UVI',:::--___- 6 Game diHiculty 
(;UI .. CHUTE' -YPE 'IWI .. _=______-----

..... _". '-. '-.,(,) To continue gome or not 

--.... (Z) AdV'crtise sound 

~, ON: TWIN (normal use) 



( .-\ 
J)/ Unokkcclling 

-- .... _-_._--------------
Il I AGNOSTIC 

IJOOKKEEI' I NG (I'}\(;E I) 

CHE!)IT HEI'OI(T 

COIN SW#I mIGIIT) 

COIN SW#2 (LEFT) 

COl N CItElHTS 

mmVICE #1 (I.I'.I'T) 

gl<:l/VICE #2 (It WilT) 

SEUVICE CUEUITS 

15----· 

12 
27---

3 
5 --- .----
8 ----__ 

,uri\l. CitED ITS 35 -. __ .. __ . 

PUSII SEUVICE UUTIUN 

--_. --------------' 

III J\{;NOST I C 

IKXlKKEEP I NG (PAGE 2) 

TIME Illil'ottT 

·lurAI. TIME 1011 10M lOS 

GAME TIME 

-----

'lurAL 

AVEllAGE 

LONGEST 

III 10M lOS .. --. 

Oil 1M OS ----. 
UII 8M 12S __ 

pusn SEnV I CE IlUTI'ON 

IJ I J\{ ;NOST I C 

IKKlKKEEl'1 Nt; (I'AUE 3) 

SCOnE Iml'OHT 

AVE. SCOHE 

'n: II' SCOIIE 

!..ow SCOIlE 

I o(,-n 3 .--

3-1567R9 

89.012· 

----" 

NUMlllm 01' GAME 2U _______ _ 

pusn 'msr BurlON 

Operation frL"lIlCllcy of coin chute 

Operation rrc1lllcIlcy of coin chote 2 

Number of coin cn'llits 

.• --~) Usage freqoency of service switch 

~- (?) U3a~e ire.'li,0""? "J ServICE s",{td, c. 

(t) NU'hbe.r of .:Jet-VlrF rrr-dd.s 

(j) N umber of credits in total 

(/) Total working lime (00 II 00 MOOS) 

Total game play lime 

Average game play time 

(lJ I,ongest game play time 

ill All players' a vcrllgc scUre 

(9 llighest Score 

-(~ Lowest score 

-- E:1> Total number of game plays 

:ll 



fPi' 

7 
tl) IIACI\ UP UAI\I CLEAH 

ll"ukk""l.ing data i~ ~tnrl'd for at lenst :J days aftl'r the \l"wcr is 
turnl'd ofr. Wh{,11 d{'aring, bring the nrrow to Y ~;S and Ilush the 
TEST butt .. n_ 

'-

OIAGNOSTIC' 

UACKUP II.AMCLEAH 

- NO 
YES 

SELEcr IIY SEHV I CE IIUITON 

PUSII -msl' IIlJTIUN 

-W" 



1'(, DIP SWITCII SETTING 

COltucnE011 OPtiON SWllef' SElliNG DIP SWA 
------

COIN SW 1 OPTION I > l • 5 • , • - -- -- fo~ I OFF 1 COIN • CAEOll OFF OFF Off OFF Off OFF 
I COIN , CREDitS ON Off Off OFF 0" Off Of F OFF 
I COIf~ 1 CREDitS OFF 0" OFF OFF OFF ON OFF OFF 
, COIN .. CREDIIS ON ON Off OFF ON ON OFF Off 
1 COlli 5 CREDITS Of:f OFF ON OFF OFF orF 0" orr 
1 COIN , CREDitS ON Off ON OFF ON OFf ON OFf 
, COIUS , CREDit OfF 0" ON Off OFF ON Ou OFF 
J COINS , CREDit ON 011 ON Off ON ON 01' orF 
• COtNS I CREOII orr OFF OFF 0" OFF Orr- orr ON 
, COINS J. CREDit S ON Off OFF ON ~!'!... Off 01- f ON 

r;-coiNS--' cReoi ,- - I-
e COINS 'CHEOIU OFF ON OFF ON Off ON Off ON • COINS J CHEUt1 5 

~~,?IN~ ,. CIII:OIIS -- _. -- ---1--- -- ----. --- --- ' ... - . 
I COINS , CHEPIt 

UN ON OfF ON ON ON ort- ON .. ComS .J cnUH I S ..... _ .... - .. _-_ ..... - - - ."'.' - --- ... -. - --I-ICOIN I CR~OI1 I 

I COINS 2 CRED,.S 
J COINS J cnEnt1S 0" ot=F ON ON OFF Of> ON ON 
.. COttlS ,. enEOllS 

~.E~~~S __ ...!.E~~~~ !~_ _._ .. - ----I-t COIN , CRE 011 
, COINS J CREOIU 

ON Off ON ON ON OFF ON ON J COINS !! CREOn 5 
~~~~ __ s ~,,~~!! ~. __ 0. 

I COIN , CREDIT orF 0" ON ON OFF ON ON ON 
r~'£~UI~ __ ~.E!!~?! 1.~ . -- --_. 0,-;- .-1---- '0;;- tON FREE PLAY OU ON ON ON ON 
'------ - --- ._- - --- -.. - .... - --

co,rJ sw • I COIN SW , 1 

GIll orlllX! SllIlOI SUlING olr SIIlfal B 
---- - - ---,--,---.--,,.--..:,-.::-:,-::......:.. .-

orlllX! 

JAI'Al1l SI ! 
lNGLISlI -----.. ---
WIKEl ! 511 IlIMt 

i Il'InOIl 

I tRtDIl 10 SIARI 

~ g:BIIS,t°J.\~V~li1 
l II\)RlVlI 

Cft'" ; I ftSY 
UllIlClllIY i 11M'" 

l~~~I1~ 51 

altliNUI IIJIJI orr 
IX! 

m~lIsi-'--! ~I -

COIN alUIl 
IYI'I 

I 234 5 6 1 8 iiir --1- -- ---- --I---
(JI 

- -::­on 
(JI 

orr 
(JI 

01 r 011 
Uli 1111 
lit I UH 
IX! IX! 

Oil 
IX! 

011 
(JI 

0JIl rrrn 
LLLIJ 
[1l-IJl-CI 

*CO IN CIIUTE TV I'E ~_ 
"):S I NGl.E II f=!oz:X:ZI/iC,ltiJltf .. _pr:;a:II", I. 

" 

Ilerr.rs Lo lhr. one .. ~OIN CIIUTE TYPE CABINET. 
TW I N ;'"f'" !><;('-. '''I!II'4~tt:~t0Jl3!fVt''JtIff:m~''",~''M 19m1"'f~ 

~~i91161l":,,p'6~~a.,Y(,",N_"" -1I11lWIIHtlt: 
t:1! .. I~- ' 
!terr.yS 1.0 I.hr 2 COIN CIIUTE TYPE CAIIINE'!' .. 
in wh,i r.h ear.h chu le can a.ccept co ins. 
Makr. Sllre lll~l llle settings of COIN SW #1 
and CUIN sw #2 afe i"'e"lical_ 

CD 
CD 

c:J 

COIN SW2 

L-J L-.J = = 

c§ 
[[I 0 On 0] 

DIP sw 
B A 
[:=J c::.:1 

C~J===LI L 



20. 

,;;' 

HOI'v1 LUCATIONS 

0' § . 

B 

GI\ME Ill> No. 
ros IIIIIN WORK Ie No. 

83~-1218 83~-1218-01 83~-1218-02 
- -----1·- -. - -"--'- -.-
I 
2 
3 
4 
~ 
6 
1 
8 
9 OBJ[C! (IH-20) 

10 
11 
12 
13 
H 
I~ 
16 

Ie 93 
IC 91 
IC 101 
Ie 10', 
Ie 92 
IC % 
Ie 100 
Ie 104 
IC 91 
Ie 95 
Ie 99 
Ie 103 
It 90 
Ie 94 
Ie 98 
Ie 102 

11'11-12715 
11'11-12176 
11'11-12771 
11'11-12118 
11'11-12779 
, 1'11-12780 
11'11-12181 
II'R-12182 
[ rR-12783 
I I'll-121M 
ll'n-12185 
II'R-12186 
11'11-12181 
lI'il-12788 
lI'IH2189 
11'11-12190 

~---
4----_. 

~-­

~-­
-E-
-E--
~­

-E-
-E-
~­

-<':--­
~­

~-­

~----

.-. ------1--- .. - -. --- ---
11 
18 rtX 
19 

(SI2K) 
Ie 1~4 
Ie 1~,3 
Ie 1~,2 

-------1·-
20 
21 liMN 
22 rROGllrut 
23 (1H-2OI 

Ie ~," 
Ie 63 
IC ~1 
IC 62 

III'R-I2/9I 
OI'R-12192 
0I'R-I2193 

I 1'1I-1219~ 
ll'lI-12195 
-~--~ 

-

--~><~ 

24 SOIiNO rRl)(~ 12K) Ie 11 11'11-12198 
_ ... ------

2~ SOUND 
26 OMA 
'21 (IH-20) 

Ie 11 
Ie 12 
IC 13 

- -------- ---

II'R-12199 
II'IH2800 
Il'n-12801 

~-­
-E----.. 
-E-

Il'n·m,11 
l1'R-12M8 --------..---- ------.-. --"-- -~ 

--E-- .. 

..,; .-
"'E--- . 
-E--

28 ROIIO/ (~12K) Ie 40 ~~..:::: :.:..-'->< 
29 Ie 21 l1'R-12802 -E--
30 SUB Ie 30 IrR-12803 -E--
31 PROGRNl IC 20 II'R-12804 -E--
32 (1H-20) Ie 29 II'R-12805 -E--

- - -_. --- .. _'.- ---.-
33 CUSIOH allP IC 121 31~-~304 ..,; 

---~---

34 SlClmllY CPU IC 118 311-0134 311-0m 
._--'---------'---- - .. -----. ---

Jill',," USA 
NOTE 

~­
-E­
~ ---­
---::-
-E--
~--­

~ 
..,;-

-E--
-E---
-E---
~-­
-E--­
~­
..;f .. _-

<­
~-

11'1I-12M9 
I.I'R-12850 
-----..----
~ 
.' .--.------

311-0136 

lXl'ORI 



II'" 

zl. When the game mode does not appear on the screen 

(i.e. when in the GUN /lUJUSTMENT model: 

In this game, GUN SIGHTING data is stored in the 

D/ICKUP HEr·IORY. However, due to installation or 

transportaion when the m~achine is not energized for 

more than one week, or" after making the M/IIN BO 

adjustments, the following (but not the game mode) 

will appear. In this case, make the following 

adjustments: 

.' I. Ul'PEH LEFT TARGET 

--<=-

(;tIN I\U.HlSI MEN r 

MINIMUM 
"0111 linN 11\1. uo 

VEil' °rCAI. OU 

f,1I\Xlf\.1\IM 
1\"111 ''''Ii 1111. IIH V ".111 11.1\1. \ ( 

II 1<;111' 

~, I N IMII~' 
IIOH Il.' IN II\L 00 

VEin I CI\I. UU 

PULL "nuc;nmt TO ~TAnT 

,'USII 110111 MISSII." IltrlToN 'In EXIT 

. - .. ----;----2. LOWER RIGHT TARGET----

Pull the left-hand side gun's trigger, and 

the target appears on the upper left side. 

Direct the gun towards the target (fully to 

the upper left side) and pull the TRIGGER. 

2. 't'he tar.yet appears on the lower right side. 

Direct the gun towards the target (fully to the 

'lower rigllt side) and pull the TRIGGER. 
~, Ii 

3. Make similar adjustments to the right-hand side 

gun sighting. 

4. After the adjustments, simultaneously push both 

guns' MISSILE buttons and the game mode will appear. 

*Ordinary GU!'l SI,GHTING adjustments can be made by 

performiny the SELF-TEST (refer to the ~HP.1¢B 
~ SE1.F-TESr) m;) • _ 



Nl\HS COIN CIlUTE DOOl{ 

c P 
, (F OR ffii [ill ~I' 

511 
j +12V 

f'·" . 

V-I/2) ov 
WIlITE 

SGB-,:m:,i~, III Cll-IO 

ITIL~t- G[4l 
- u.c on 13.J~_ 2 - I Q"3l -

COIU 5\'1 1I.U 
V-I/2) mVI ·3· - I [i U I CUM 

GDO 4· - . :'IIB-;j!f'rj -2:;::, Ill. -
CN-2 - '--

WIlITE 

C OIN MBTER(DCI2V) 

- r~J 
rrO-I-o 1101 
IlJlfl ~ r90-' 

~ 

(BIID CONN) 
'-r, '. ,., .~.- 1!.3 

- ~ -l-:;'" 

j CUln I-mTER +Ve 
-Ve 

CN-5 

·QUl\TTHO DD 
(Ml\HS COIN DOOH) 

CO I If DOUR o'--_ .... [4QRl-=-"'-U =K.L--_~O DOOH BASE 

(TERM LUG) (TERM LUG) 

. .JIll l~--lIT Of-----LI4Qk]....,Oc.:.L--O lXJog BASE 



..... ' 

QUATTRO DU 

SW1 SW2 

It 11 j , , , j! !ill] ~~ f 
12345610 1234 

+
12V

l10) fIl cN- 1o 
OV 51 e 

o 
CN-

51 e 
, e 

Clf-4 e 
COllI MBTBR +Ve ('10) 

-Ve 90 
COIN BNTRY LAMP 

(NOT USBD) 

lID 
N.C(NOT USE' 

CN-2~: COIN SW N.Ol34) 
COM 50 

INTBRFACB CABLE 
TO MARS 

.... '~ 

MARS COIN CHUTB DOOR 

to 
I 

Jl 

~ 

EARTU WIRB 
(SGB-39"3-f4#3) 

7 ~ 

0 
s w tJ~IT 



GUN UNIT (GUN-2000) 
(0-1/9) 



f.J
 

.J
) 

* 

©
 

G
l 

C
 

Z
 

C
 

Z
 

-
l 

.....
.. 

G
) c Z
 I N
 

o o o '-
"
 

~
 

o I N
 .....
. 
~
 



~
 

" 
1

"1
"4

/ 
\.

 
~
~
,
 
\ 

I 
/
~
_
 

I 
• 
/
I
~
 

'*' 
'. 

F
_

.
_

'
 

r 
_

_
 .....

 
T

 _
_

_
 "\

. 
, 
_

_
 '
"

,
 

,-
.n

 V
' 

\ 
~
 

'
-
-
~
~
 _

_
 ~
 

F
L

"
'-

1 

.. 

~
 

.-
~
 

----

©
 

G>
 

C
 

Z
 

C
 

Z
 
~
 

.....
.. 

G>
 

C
 

Z
 I N
 

0 0 0 o I w
 

"
-
~
 



GUN UNIT (GUN-2000) (0-4/9) 

'. 

31 



GUN UN IT (GUN-2000) (0-5/9) 

ITEM NO. PART NO. DESCRIPTION NOTE 

1 GUN-2001 BASE BRACKET LOWER ~ 
2 GUN-2002 BASE BRACKET UPPER ~ 
3 GUN-2003 MONING BASE ~ 
4 GUN-2Q04 STOPPER RUBBER /2126-25 ® 

5 GUN-200S MOVING BRACKET RH 9 
6 GUN-2006 MOVING BRACKET LH ~ 
7 GUN-2007 SHOULDER SCREW ~ 
8 GUN-2008 STOPPER RUBBER /21 26-4} ~ 

9 GUN-2009 GUN BASE ~ 
10 GUN-2010 MAIN SHAFT ~ 

11 GUN-2011 TORSION SPRING ft 
22 GUN-2022 GRIP BASE (kff 
23 GUN-2023 UPPER HOLDER 4:2£n 
26 GUN-2026 PLATE SHAFT .E1 
27 GUN-2OSO SLIDE COVER @ 
29 GUN-2029 LOWER COVER 01 
30 GUN-2030X COVER GUN RIGHT ,~ ." 
31 GUN-2031X COVER GUN LEFT £0' 
32 GUN-2032 FRONT COVER ~ 

. -
~..... , 

§' 34 GUN-2034 , SIGHT 

36 GUN-21(lO AsSY GRIP ~ 
37 GUN-2035 VR BRACKET A i1iib 
38 GUN-2036 VR BRACKET B ~ 
39 GUN-2037 . SPA'CER SHAFT @ 

.40 GUN-2038 AJUST RING . @) 

41 GUN-2039 PLATE GEAR 
. @ , 

-~-



GUN UNIT (GUN-2000) (0-6/9) 

ITEM NO. PART NO. DESCRIPTION NOTE 

42 GUN-2040 COM SPRING ¢26 . ()% 

43 GUN-2041 SOLENOID BRACKE'I; ~ 
45 SOR-2120 SHOULDER SCREW ~, 
46 GUN-2M3 PLUNGER SPACER t@ 
47 GUN-2044 BRACKET THERMO l.RJ 
48 GUN-2().15 COM SPRING ¢ 29 05WJ 
49 GUN-2046 SPRING HOLDER ® 
50 GUN-2047 STOPPER BRACKET ~ 
51 GUN-2048 STOPPER ~ 

104 100--5057 BEARING ¢15 c2) 
106 601-6005 ADJUST GEAR g 
107 GOf-5943 GEAR 20 e;;J 

109 220-5130 VOL CONT B-SK OHM ciJJ 
111 100-5070 BEARING ¢15 ® 
112 100-5110 BEARING THRUST ¢ 20 ~ 
113 .601-6334 RUBBER LEG (3 

114 124-5031 SOLENOID DC 24V DUTY 114 ~ 
115 601-6405 THERMOSTAT 75"C J;v 

J 

090-0012 SCREW WCK 

'-, . 
09(H)()13 " GREASE , 

116 601-5526-030 BUSH 1.6t (L=3Omm) 

090-0002 GLUE. CEMEDINE No.3000 RS 

117 601-5962-020 BUSH 3.3t (L=2Omm) 

! 

ZOi 029-0295 HEX SI(T CAP SCR W/HOLE M6x18 . 
. 

202 054-0006 U NUT M6 ~ 



GUN UNIT (GUN-2000) (D-7/9) 

ITEM NO. PART NO. DESCRIPTION NOTE 

203 059-0050 HEX NUT H=7 P=I.75 (3~) M12 

204 061-0012 SPR WSHR M12 
" 

205 069-0020 FLT WSHR M12 

206 045-()()()4 COT PIN 1.6x15 

207 OOO-OSlo-S M SCR PH W/S MSxl0 

208 069-0001 FJ.T WSHR 5.5-2Oxl.6 

209 029-0286 HEX SKT H CAP SCR M6x10 

210 061-0006 SPR WSHR M6 

211 060-0006 FLT WSHR M6 

212 059-0047 HEX NUT SLOTTED & CASTLE M8 (iflj1f~ 1 fll) 

213 061-0008 SPR WSHR M8 

214 029-0296 S-TITE SCR FH BLK M3x6 

215 029-0288 HEX SKT H CAP SCR M5xlO 

216 02!Hl297 M SCR PH W/HOLE M5x14 

218 060-0005 FLT WSHR M5 

219 061-0005 SPR WSHR M5 
, 

220 000-0516-FS M SCR PH W/FS M5x16 

221 054-0005 U UNT M5 
. 

222 045-0032 COT PIN 2x18 -"', 
223 029-0291 TMP PRF SCR 'PH WILOCK M4X12 

224 069-0103 FLT'WSHR BLK 5.5-14xl 

226 000-0412-5 M SCR PH W/S M4X12 

227 028-0003 SET scn PH SPCL M3x8 

, j 

228 028-0019 SET SCR HEX SKT CP UNBR M4x8 

229 029-0289 TMP PRF SCR TH W/LOCK M4xlO 

. 
230 054-0004 U NUT M4 " 



GUN UNIT (GUN-2000) (0-8/9) 

ITEM NO. PART NO. DESCRIPTION NOTE 

231 060-0004 FLT WSHR M4 

232 1lOO-0408-FS M SCR PH W IFS M4x8 ! I 
.' 

233 O4S-0031 COT PIN 1.2><12 

234 061-{)()()4 SPR WSHR M4 

235 ()()()-O310 M SCR PH M3xIO 

236 000-0314 M SCR PH M3x14 

237 054-0003 U NUT M3 

238 060-0003 FLT WSHR M3 

090-0041 GLUE CEMEDINE 188 

239 059-0029 CAP NUT TYPE 3 BLACK MS 

240 069-0089 SPR WSHR BLK MS 

241 069-0105 FLT WSHR 15-30x2.6 

301 SGB-3973-6 WIRE HARN EXT SOLENOID 

211-S282-o2RE CONN PLUG 9090 02P-RE 

211-S283-o2RE CONN CAP 9090 02P-RE 

310-5028-S.8 VINYL TUBE ¢S.8 
, 

302 8OB-3973-7 WIRE HARN SOLENOID 

211-S282-o2RE CONN PLUG 9090 02P-RE 
",. 

3)9-0023 .- CONN CLOSED END 

" 310-5028-S.8 VmYL TUBE ¢5.8 

304 8OB-3973-12 WIRE HARN V VR 

211-5282-03WH CONN PLUG 9090 03P-WH 
,. 

310-5028-5.2 VINYL TUBE ¢5.2 

'305 8OB-3973-13 WIRE HARN H VR . 
-

211-5282-03RE CONN PLUG 9!l9O ·03P-RE 



LINE OF FIRE (834-7218---) 

COIN/CREDIT OPTION SWITCH SETTING DIP SWITCH A 

OPTION 1 2 3 4 5 6 7 8 
1 COIN 1 CREDIT OFF OFF OFF OFF OFF OFF OFF OFF 
1 COIN 2 CREDITS ON OFF OFF OFF ON OFF OFF OFF 
1 COIN 3 CREDITS OFF ON OFF OFF OFF ON OFF OFF 
1 COIN 4 CREDITS ON ON. OFF OFF ON ON OFF OFF 
1 COIN 5 CREDITS OFF OFF ON OFF OFF OFF ON OFF 
1 COIN 6 CREDITS ON OFF ON OFF ON -OFF ON OFF 
2 COINS 1 CREDIT OFF ON ON OFF OFF ON ON OFF 
3 COINS 1 CREDIT ON ON ON OFF ON ON ON OFF 
4 COINS 1 CREDIT OFF OFF OFF ON OFF OFF OFF ON 
2 COINS 3 CREDITS ON OFF OFF ON ON OFF OFF ON 
2 COINS 1 CREDIT 
4 COINS 2 CREDITS OFF ON OFF ON OFF ON OFF ON 5 COINS 3 CREDITS 
6 COINS 4 CREDITS 
2 COINS 1 CREDIT ON ON OFF ON ON ON OFF ON 4 COINS 3 CREDITS 
1 COIN 1 CREDIT 
2 COINS 2 CREDITS 
3 COINS 3 CREDITS OFF OFF ON ON OFF OFF ON ON 
4 COINS 4 CREDITS 
5 COINS 6 CREDITS 
1 COIN 1 CREDIT 
2 COINS 2 CREDITS ON OFF ON ON ON OFF ON ON 3 COINS 3 CREDITS 
4 COINS 5 CREDITS 
1 COIN 1 CREDIT OFF ON ON ON OFF ON ON ON 2 COINS 3 CREDITS 

FREE PLAY ON ON ON ON ON ON ON ON 
COIN SWITCH #1 COIN SWITCH #2 

GAME OPTION SWITCH SETTING DIP SWITCH B 

OPTION 1 2 3 4 5 6 7 8 
JAPANESE· OFF 
ENGLISH ON 

CABINET : SIT DOWN OFF 
: UPRIGHT ON 

1 CREDIT TO START OFF 
2 CREDITS TO START & ON 
1 CREDIT TO CONTINUE 

: NORMAL OFF OFF 
GAME EASY ON OFF 
DIFFICULTY HARD OFF ON 

HARDEST ON ON 
CONTINUE : OFF OFF 
MODE ~ ON ON 
ADVERTISE : OFF OFF 
SOUND ; ON ON 
COIN CHUTE" SINGLE OFF 

·i"YPE : TWIN ON 

*COIN CHUTE TYPE 
SINGLE 

TWIN 

~~~~~-.~lMC~~?~~ffl~~o 

Refers to the one COIN CHUTE TYPE CABINET. 
~~~~_-.~2M~~.~h~h~~~~~~~#~~.~~'~~~?~~ 

ffl~".to A~li~C.{,- "~fi!!JflL'i~o COIN SW #1, COIN SW #211IRJC~ 
~t;:: 1..--Cr~ ~'o 
Refers to the 2 COIN CHUTE TYPE CABINET., in which each chute can 
accept coins. Make sure that the settings of COIN SW # 1 and COIN SW 
# 2 are identical. ' 

421-7568 



I~' 

. 
! 

[~ 

-.< ---=-

I FL <,ow 
, 
l 

~ , 
r-__ ~--------~ .. ~~~.~':a~·~'~ __ ~A~C__{P~n_~A~<~~ 

'C ZI-~.t .... ,-__t_1 

~ " ~I ~ 

~t~!~t· 

.... ~,. 

" Al 

AL 
·c 

Zoo- SI7l -/r-

CoLoR b'~PLA,( 

26-,t{'E 

'1 

t.~C""'" , 
~ /tL 

=1:ij:1--;;:IJ!'-=-_-" 
!f.(1J.'toJ 

I 

L---__ 

.c~ 
I 

Z 

3 .. 
-"'" , 

c 
~c 

, I 

, 
·--------____ ,~L __ ~___(, 

,r-'-' 
j -~--- ---_. 

i 

, 
c, 


	Line of Fire01
	Line of Fire02
	Line of Fire03
	Line of Fire04
	Line of Fire05
	Line of Fire06
	Line of Fire07
	Line of Fire08
	Line of Fire09
	Line of Fire10
	Line of Fire11
	Line of Fire12
	Line of Fire13
	Line of Fire14
	Line of Fire15
	Line of Fire16
	Line of Fire17
	Line of Fire18
	Line of Fire19
	Line of Fire20
	Line of Fire21
	Line of Fire22
	Line of Fire23
	Line of Fire24
	Line of Fire25
	Line of Fire26
	Line of Fire27
	Line of Fire28
	Line of Fire29
	Line of Fire30
	Line of Fire31
	Line of Fire32
	Line of Fire33
	Line of Fire34
	Line of Fire35
	Line of Fire36
	Line of Fire37
	Line of Fire38
	Line of Fire39

